| Efficiency vs Dxy |

>0.05 : : : : : : :
S 5 5 5 5 5 5 5
B.045F P peee S S st
> 5 5 5 5 5 5 5
20.04F Pese S | peeeee R S
c 5 5 5 5 5 5 5
9.035F 5o e oot e st
= i i i i i i i
©0.03 i fre S | e ot
oozs
002
00185 il

0.0

0.008E v A

o [l

Ratio

1.9

510 15 20
TP dxy (cm)

-Test_1000evT
|tREFt test 1000evt

| Efficiency vs Dz |

IoO00d
ZZZIZE.
33330
Paaaaa
'I'I'I'I'I'I'I'I'I'

~n 0.02 : : :
© - : : : : :
D.018 ARl RE P P Pl
> - : : : : :
.016F Pl P Peeeeee e
s . . . . .

A7 Y057 SRS 5. NS S S S
[<5) : : : : :

O R

0.0

0,008
YGRS SN SN S S —

0.004_— --------- Feeeeeesae Jhpseeeees A S I TR
F ? | * : é
0002 ﬁwﬂ -----------

ItREFit-OR-Test_1000evt
ItREFIt-ORK-test_1000evt
|tREF|t OR4 test 1000evt

T R P P L S F P PP PPPRS

™o 20 =10 0 10 20 30

TP dz (cm)



	Contents
	Page 1


